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BACHELOR OF EDUCATION 
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December, 2017 

ES-343 : TEACHING OF SOCIAL STUDIES 

Time : 3 hours 
	

Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Discuss various approaches to organisation of 
Social Studies Curriculum at secondary leveL Do 
you think that a single approach can be followed 
to organise Social Studies Curriculum ? Justify 
your answer. 

OR 
What are group - directed instructional inputs ? 
Explain, with examples, how you can integrate 
group - directed instructional inputs with 
teaching of social studies ? 

2. Answer the following question in about 
600 words : 
What are the effects of the geographical 
discoveries ? Prepare a detailed lesson plan to 
teach the topic. 

OR 
Explain the term of totality of environment. 
Prepare a detailed lesson plan to teach the topic. 
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3. Answer any four of the following question in 
about 150 words each : 
(a) Explain how you can implement continuous 

and comprehensive evaluation in Social 
Studies. 

(b) Discuss various values that can be 
developed among students through 
teaching of Social Studies. 

(c) How will you teach growth of education and 
its impact during the British rule ? 

(d) Differentiate between latitudes and 
longitudes. Which instructional media will 
you use to these concepts and why ? 

(e) What are different types of Soil ? Prepare 
three multiple choice type questions on this 
content. 

(f) Which method/s will you use to teach main 
features of Indian economy and why ? 

4. 	Answer the following question in about 
600 words : 

Suppose you are asked to prepare a question 
paper on Social Studies for annual examination 
of class IX. Describe the steps that you will follow 
to prepare the question paper. 
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